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Introduction
In the last meeting, it was agreed to focus on indoor deployments for coexistence simulation [1]. And the simulation assumptions were updated in the Annex. Just before RAN4#101-e meeting, the calibration work for coexistence simulation was finished among companies. In this contribution, we further provide our simulation results for co-existence study of 60/70 GHz.
Discussion
Simulation Description
The co-existence simulation scenarios for 52.6~71 GHz are summarized in Table 1. The deployment scenarios in this simulation are indoor office C in TR 38.808. The simulation includes 60/70 GHz frequency with 100/400 MHz channel bandwidth. In the simulation, both UL and DL co-existence are considered. The simulation assumptions are captured in Table 3. The simulation methodology follows the description in TR 38.803.
Table 1: Summary of initial simulation scenarios for B52.6G
	No.
	Usage scenario
	Aggressor
	Victim
	Direction
	Simulation frequency
	Deployment Scenario

	1
	eMBB
	NR, 100MHz
	NR, 100MHz
	DL to DL
	60 GHz
	Indoor office

	2
	eMBB
	NR, 400MHz
	NR, 400MHz
	DL to DL
	60 GHz
	Indoor office

	3
	eMBB
	NR, 100MHz
	NR, 100MHz
	DL to DL
	70 GHz
	Indoor office

	4
	eMBB
	NR, 400MHz
	NR, 400MHz
	DL to DL
	70 GHz
	Indoor office
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Uplink throughput results
[bookmark: _Hlk85384779]For indoor office C scenario, the UL-UL coexistence simulation results are shown in Figure 1. The edge loss and average loss of UL throughput for indoor scenarios are shown in Figure 1a) and 1b), respectively. It can be seen in this table, ACIR of 20 dB value can keep the edge loss of UL throughput under 5% and the value of 8 dB can meet the threshold of average 5% UL throughout loss.
	
	

	a) Edge loss of UL throughput for indoor deployments
	b) Average loss of UL throughput for indoor deployments


[bookmark: _Hlk85381045]Figure 1. Uplink throughput results for indoor deployments
[bookmark: _Hlk85383628]Observation 1: For UL, ACIR value of 20 dB can meet the 5% edge throughput loss for 52.6~71 GHz for indoor office scenario.
Observation 2: For UL, ACIR value of 8 dB can meet the 5% average throughput loss for 52.6~71 GHz for indoor office scenario.
Downlink throughput results
For indoor office C scenario, the DL-DL coexistence simulation results are shown in Figure 2. The edge loss and average loss of DL throughput for indoor scenarios are shown in Figure 2a) and 2b), respectively. It can be seen in this table, ACIR of 26 dB value can keep the edge loss of DL throughput under 5% and the value of 16 dB can meet the threshold of average 5% DL throughout loss.
	
	

	a) Edge loss of DL throughput for indoor deployments
	b) Average loss of DL throughput for indoor deployments


[bookmark: _Hlk85381060]Figure 2. Downlink throughput results for indoor deployments
Observation 3. For DL, ACIR value of 26 dB can be sufficient to meet the edge 5% throughput loss.
Observation 4. For DL, ACIR value of 16 dB can be sufficient to meet the average 5% throughput loss.

 Conclusion
This contribution provides further co-existence simulation results for carrier frequency 60/70 GHz with 100/400 MHz channel bandwidths in indoor office scenario. The co-existence simulation results are summarized in Table 2. 
Table 2. Summary of coexistence simulation results
	
	Indoor office (60GHz)
	Indoor office (70GHz)

	
	100M
	400M
	100M
	400M

	DL: ACIR (5% TP loss)
	15.58 
(Avg.)
	25.51 
(Edge)
	15.00 
(Avg.)
	22.36 
(Edge)
	15.15 
(Avg.)
	22.00 
(Edge)
	14.74 
(Avg.)
	21.95 
(Edge)

	UL: ACIR (5% TP loss)
	7.34 
(Avg.)
	18.95 
(Edge)
	7.82 
(Avg.)
	16.25 
(Edge)
	7.18 
(Avg.)
	19.58 
(Edge)
	8.00 
(Avg.)
	15.58 
(Edge)


[bookmark: _GoBack]The following observations are made:
Observation 1: For UL, ACIR value of 20 dB can meet the 5% edge throughput loss for 52.6~71 GHz for indoor office scenario.
Observation 2: For UL, ACIR value of 8 dB can meet the 5% average throughput loss for 52.6~71 GHz for indoor office scenario.
Observation 3. For DL, ACIR value of 26 dB can be sufficient to meet the edge 5% throughput loss.
Observation 4. For DL, ACIR value of 16 dB can be sufficient to meet the average 5% throughput loss.
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Annex
Table 3: List of coexistence simulation parameters
	System Parameters
	Deployment
	Indoor office C in TR 38.808 (optional: Indoor office A in TR 38.808). Dense urban scenario A in TR 38.808 with ISD = 30 meters

	
	Carrier Frequency
	60 GHz, 70 GHz

	
	Channel BW
	100Mhz and 400MHz 

	
	SCS
	120KHz for 100MHz and 960KHz for 400MHz

	
	Number of active UEs
	1

	
	Channel model
	InH open office model in TR 38.901. Umi model in TR 38.901

	
	LBT
	No LBT considered (optional: consider LBT)

	
	UE to BS 2D distance 
	0 meters for indoor deployment

	BS
	(Mg, Ng, M, N, P) 
	(1,1,4,8,2) for indoor deployment
(1,1,16,16,2) for dense urban deployment

	
	(dv, dh)
	(0.5 λ, 0.5 λ)

	
	Antenna element gain 
	5 dBi

	
	Antenna element radiation pattern
	Indoor: Table A.2.1-7 in TR 38.802 for ceiling mount 
UMi: Table 7.3-1 in TR 38.901 

	
	EIRP limit 
	40 dBm for indoor deployment
52.8 dBm for dense urban deployment

	
	Noise Figure 
	13 dB

	UE
	(Mg, Ng, M, N, P) 
	(1,2,2,8,2)

	
	(dv, dh)
	(0.5 λ, 0.5 λ)

	
	Antenna element gain
	5 dBi

	
	Antenna element radiation pattern
	Indoor and UMi: Table A.2.1-8 in TR 38.802

	
	EIRP limit 
	20 dBm 

	
	Noise figure
	13 dB

	
	LoS/ NLoS
	LoS probability model defined in TR 38.803

	
	Maximum conducted power (per polarization)
	0 dBm

	
	Minimum conducted power (per polarization)
	-20 dBm

	
	SNR target
	15 dB

	
	CL-xile 
	66 for 100 MHz and 60 for 400 MHz.
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